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(With Books)

Time: Three hours
neuk :3 kzy

Maximum Marks: 100
myifglr kjigbg=zfs :100

Note/ Fwgq :

1)

Answer five questions only. First question
is compulsory.

leJ tdiffSfF klILk trlasiftk
Kjy nfstyfF fllhaknt ©i1lasifftk

(2) | Candidates are allowed the option to | nfhthshfs JkiHinyh [m) M =hyfpnynh
answer the paper either in English or in | myy.J ,uzLk  fyenjh i lasiff
Tamil or even to answer the paper partly kaj/ffgglLssJ,

in English and partly in Tamil.

3)

When answering in excess of prescribed
number of 5 questions, the excess answers
appearing at the end will not be valued.

leJ tdiftfSTF nky kirfahft ¢rl
vGJk glrjjiy mej kirfand i lfsy
frlnandtwrw kjiggl braaggl khllhJ.

(4)

Answer should be brief and to the point
and need not be a verbatim reproduction
of printed pages.

i1 Ifs RUffkitk nfstifF chajhftk
,UjJy mtrnak gqyyfs mrrlggll
gff*"fsid guyigyigghf , UFf nt=zIhk

(5) | Marks will be deducted for bad nkhirknd  1ftbaGjyywFk gn IggwFk
handwriting/ bad presentation. kj/gbg Zfs Fi WffggL k
Marks
1. Choose the correct answer: 1*20=20

gflwmerr eflenLemw CHIHOSBSS! 6T(PSIS:
I. While earthing an electrical line by earth rod during maintenance work,
where the earth rod wire to be connected first?

a. Electric line b. Earth

c. Post d. Cross arm

OesTumenG&eiled upmLOFlLLUe Qe dCung Hev @eneuorliy Q&
ISITE UTSHEM6T (NGOG cTeUaLGHeL QenemisaLILL. Cousiur(hLD.

a. LbleoTLIMTEMG b. Hev&&eL

with an electrical shock?
a. Armstrong b. Thamson
method method

Name any one method of artificial respiration to be given to a person met

c.5LLSSH6L d.&merv
247556

c. Eve’srocking d. Edison

method method

Ol6tT SIHTEFS gOHULL BUBSG CFwCauagul Q&FWMHmS 2 UL
W JCHMID eR6aTMIET CILILIENT For ).

a. gy LDervL Ik
peom

b.&mbaesT(Lpemm

C.@euervgmT&HEIn
penm

d.eTig &63T (LpemM

Which type of fire extinguisher is best suited for electrical cable fire?

a. Soda acid b. Dry chemical c¢. Co2 d. Foam
powder
HemGeuL hisefled  gouUGL  Sullemer  emerliLemE 6T6216)6M G
SwiemeutLiLmedT OGEYD QLTS SLOT6TTE)?
a.GemLmoifleod b 2 e0fhs c.eflwifeveuru) d. msoy

@rgmuen QuMg.
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If a HT application is received for a demand of 11 MVA at what voltage the
service will be effected in distribution network?

a. 11 KV b. 22 KV c. 110 KV d. 33 KV

@@ 2 wifaer(pds eleamsmliusded 11 MVA heTUEpeliH@ Loleo
Qemeuoril]  GCHLSLLL I (BLLT6HT  6Telaleney LOTT SIS HeL  LOledt
@emewliL] eULPRISLILIL Gaeur(HLD?

a. 11 KV b. 22 KV c. 110 KV d. 33 KV

Name the gas operated relay used to detect the internal fault of a power
transformer?

a. Differential b. Buccholz c. Earth fault d. Over Current
relay relay relay relay

Smett hleronmMiuied gmHUEL  LpSlemes sevurLmiwl LwleTUGESULGD
eumeesrmed QUIRIGLD 2 6uoT]%HHUN6HT CILILIT 6T60T60T?

a. Differential b. usQammevbev  c. Earth fault d. Over Current
2 TS S 2 S A 2 TS S 2 TS S

What is the minimum experience of a Consumer Grievance Redressal
Forum member nominated by District Collector?

a. 10 years b. 25 years c. 15 years d. 20 years

6ot  HISTCUM)  GmmET  WeImHSHeT o miliNerfsHeiled  LOTeUL L
SLAWgmed HufSsLUGLD 2 NN GOMMBHILULE BILIE SHT6VLD
615860601 QUMBLLD Q(H&HES Geoueuor(BLd?

a.10 eU(pLLD b. 25 ey@pLd c. 15 eu@pLd  d. 20 eu(pLLD
Which section of Indian Electricity Act 2003 deals with the disconnection
of supply due to default of payment?

a. 126 b. 135 c. 56 d. 185

Qidw LhlesTEmy FLLID 2003 60 6ThHG LNl OGS L 6D CEFVISHTH
LOl6sT @6m6uuILiLiSHemen Hietong L Q&Fuleud UMM eNeufl&HMmE)?

a. 126 b. 135 c. 56 d. 185
Section 126 of the Electricity Act -2003 deals with...........
a. Misuse of b. Theft of c. Disconnection d. Service
energy Energy due to non connection
payment of
Energy charges
LO6STEMy FLL LD 2003 LNl6Y 126 6TETLG .....ocoovoveneenens umm eNeufls&EMm|.
a.&eUmmest b..0err HHL G C..06oT &L L 6void  d.LOl6ST @6m6uILiLy
LOl6oT& Ty QEVIHHTHHML  CUMIUFDES
uwiestum(p LOI6T Gl 6Tl LiL|

How much space has to be provided by the consumer to install a structure
mounted DT and its associated switchgear by the licensee, when the
consumer requiring supply to a multi storied building having total floor area
of 900 square meter and above?

a. 5m x 5m b. 205m x 6m c.4.5mx7m d. 10mx 1m
IGSGLMg  SULLR&efer ugluete] 90 &&HJ WBLL(G5S GLoev
Q®HEHTL O  FTHEOTRISGHT — SMWOLIUSNEG  UEAJLTeT 2 [l
QUDDIBHSE  sTeuedana] @ILID  ONEIEILLSSTITTD  QURISLILIL
€N hY

a. 5m x 5m b. 205m x 6m c.4.5mx7m d. 10mx 1m
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Which amount is adjusted against quantum of initial security deposit
payable by the HT/LT industrial applicant before availing supply?

a. Security b. Earnest c. CC Advance  d. DC charges
deposit Money Deposit

QamAMH&memev Wleoeollemevoriyy 2w  LOMID  HTD6U(YSS LDl
UTenG&Heafled  QUMIISDGSUP6T  6ThHG CHMeMS QYD SHMLL  6DEULIL
Qarensseiled &l QELILILGAMSI?

a.8MiLS b.Remewmr cBer  slLew d. e
QsTens smelLLS (LP63T LI6TaTLd &6T0Tg 1L
Qs Tems &L_L_6001LD

A 50 Hz AC supply having voltage 415 volt between its phases is called?

a. HT supply b. AC supply c. DC supply d. LT supply
SHAUMUSEFSHEG @enLuiled 415 GeumeLL 50 Hz iEMELCIUETIITNID 2 6T
LMMISenE LOGITCEITL L SH6m& 6T6U6UTM SEMLOLILIG| ?

a2 wy opss b g& C. 198 d. mhelpss
LO6OTG6BTITL_L_LD LO6OTG6BTITL_L_LD LO6OTG6BTITL_L_LD LO6OTG6BTITL_L_LD
What is the duration for effecting LT supply to an applicant by installing
Distribution Transformer?

a. 15 days b. 30 days c. 60 days d. 90 days
S1HHEM6ET BHILSELSGET 6 MMM MG STPA(PSS 6T LUTmGUNEL 62(1h
efemeamiugsTIh&e DetTeNemeuuriiL] euULpmISLILIL Ceuetor(hLd?

a. 15 prLgern b. 30 prL&ei C. 60 BIL_geT d. 90 prL_geit
Within how many days, licensee shall effect change of tariff from the date
of receipt of application from a consumer?

a. 20 days b. 5 days c. 7 days d. 13 days
ellemeoiiuDd  QuUOMD  THGHMET  BILSEFSG6T 6f HUULIquisd WLAHML 2 (b
QuOmeauTeL 62(h NEIEILILSTT(H&HES C&FIH STULL CaleorHd?

a. 20 Bl g6l b. 5 B sen C. 7 BT &6l d. 13 prLgei
State the power of sanction given to Chief Engineer for replacement of line
and line materials due to theft and damages in accident.

a. One crore b. Full sanction  c. 3 lakhs d. 10 lakhs
SHEMeLemLd  QUITOILITET] SIUTSHERSHG HhHGUTeT OMID eNLGH6TTeL
Cogeml_hgy  WDeTumems OMID 6T FTHeTRIGEMET LODTHMIUSDES
QULPMRISLILIL (BeiTem ST HBILDS Si6Temed FameLD.

a. @@ GComg b. (ppeusId C.CLPE0TM)| VL&D, d. UGG VL &LD.
Supply shall be given in porompoke land/Government land on production
of ... obtained from the concerned officer of the Government of
Tamilnadu?

a. VAO b. Thasildar c. No Objection  d. Birth
Certificate Certificate Certificate Certificate
UmWGUTHE OHMID SIFFMHRIS Hleomhiseailed LhleTelleneuuiliL eULPhIGaISN G
............................. FOLHSUIIULL SOPS ST&HIIEUFILOfDBS QUDMI ST

Geuegor(pLb.

a.&gmo  Mjeurs b.eulLm &wf  c.gmLufeveomr  d.  NpLOys
AV [Ty &medTm)l FmedTm)l &medTm)l

To purchase proprietary items, ............ type of tender will be placed.

a. Open tender b. Limited tender c. Single tender  d. Multiple
tender



XVil.

XViil.

XiX.

XX.

4

@@ Sl HmieueisSHed[Bhg QUITIHL&6T MHMID 2 Hifl LTShISneT

QUMRIGEUSMS ............ QUEMSILITET 6RLILIGG LeiTeMN&enn CHMIULBAME).

a..QeuefliLemLwimss b.eusmyumI&s  C. emMenm d. uev &1

eLILHSLD LU eLILHSLD eLILHSLD
SULBSLD

Who is the appellate authority to deal the theft in LT services?

a. AEE/C&I b. SE/O c. EE/O d. Ado

SMDAPSHS WledT SHBLIgemerT mEWTEHD CosL(emMUIL B Sigl6uev)
uImiy?

a o.gal Qswm b. Cupurjmen  C.QswWD d.Bijeuns
Qumrplwimerry Qurpwimerny/ Qurpwimerny/ AV [Ty
& & G AuwissLd AuwissLd

What is the power of sanction for Chief Engineer to acquire lands for TNEB

schemes?

a.1 Crore b. 50 Lakhs c. 25 Lakhs d. 10 Lakhs

SOpBTH e eumfli  LENSEHEHSTE  HGHmE  MEWSLILGSS

SHEMELeMLD  QUTHIITOT(hHG QUPRISLILL (RelTem  SimIDG HSMT  eurLdL

6T6URENTE)?

a. @@ GCamg b. 50 evL &Lb. C.25 6LL.&LD. d.10 evL_&Lb.

Name the equipment provided by the consumer to avoid dumping of

harmonic into license distribution system.

a. Battery b. Harmonic c. UPS d. Harmonics
suppressor pump

o2 flow QuOMm 2 femwsmfler vEFLOTET HemLND  amryGLomefs

Gealeams  HafsEs e HISTCeMTHeTeL  HimieuliL Gelevorig i

2 _LISI6uuISHSH60T GILILI 6T6oT6T?

a.Lheor Sy b. emmjGuomefé c. UPS d. emmjComes

QUL 1q 3L &S ULy

Bimonthly consumption of a temporary supply service having a connected

load of 2KW is 250 unit .State the current consumption charges with E.tax.

a.Rs.2500 b. Rs 4000 c. Rs 4599 d.1500

@(h HMH&MEIS Lo  Qemesrlieor LOleoT Lg, 2KW @ LOMgmigeiled 250

unit OlesTEMp MmSTey Qi Beteneng). e eufl C&isHg QLSS

LOl60T HL_L 600 QGHTEMSHEMILI FameLD.

a.Rs.2500 b. Rs 4000 c. Rs 4599 d.1500

In a theft, the supply was directly tapped from LT line, to a house having a
connected load of 335 watts .Calculate the compounding and extra levy

charges. (The maximum tariff rate of domestic service is Rs.6.60/unit)
Q@@ 06T HBLIGED, @ of LigmE SMpelpss e ummguiled QAsmss
Cum_(® hletemynd HHLLUULLG. Sieuel Liged 2 6o e Lign335 watts
6 QHEGL ULFSSHL L6 HHLIgMHETET FOJF COHTens LOMHMILD
QuuiL® Qemmsullmer  SausH(HS. (@ LE LWL g MHETest
SHGLLFLOM6 fBLILLIgUI6d Q&Tens e(h WLefl oM@ ¢b 6.60 g@GLD)
Write the formula for the assessment of quantum of energy in case of theft
of energy/and explain its factors.

et HGELE QUUELE Cammsmw &mSSHGL  HHHNTHMS 61(pH
SIGHET SMTesEN&Henen elouifl.
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Write and explain the formula to assess the quantum of energy in misuse of
tariff. Calculate the compounding and extra levy charges.

saummenr  efBlully  LweTuTLIghH&smer  Wsoremy QUL g 6601
SWSEOL HHATHMG 61(PH SiG6tT SMyeTNHemen afeur.

A misuse of energy was detected in a house, the house is having a total load
of 750 watts and in that 150 watts misused for commercial purpose. Unit
recorded in the meter for the past 1 year up to date of detection of misuse
was 2555units. Calculate the compounding and extra levy charges.

@@ el Lliged  elwmumy  LWeTumllgMa&ms  SHeumes  LO6T&MILD
LweTU(RSHSULLL G S duiUl L gl 6f Liqer GLom&g  LOETLIET, 616t
750  wattsev, 150 watts  HeUmns ey LIL16sTUIML 19 MG
LWeTURSSULLL &I. Heummest LOGITEFM) LUIGTUMTL 6mL SHesor(hLilg SH&LLIL L
BIeT e, &Lbh® (b 6UGLLIES LwWeaUGSHSIULL Qs
OsoTEMISH6oT SleTey 2555 unit @LD. 6T601Geu LOssTEFMY QUPLISL 1gHE&meDT
QaMemns WOHMID FOIE CHTMSHMUI SHEMSELQLD.

Write about Earnest Money deposit and Security Deposit.

Heneonr enaUlLSESHTMS LMMID ST eUlLGESTens LUDM 6T(LDSIS.
Explain about the estimate cost calculation for shifting of service lines and
equipments from old location to new location.

uemipwl QL SSOBHS @b LS QLSHMES e LUTeng WLHMID Loledr
FTGHEMMIGNET QL LOMHM  SoWEHS PG LHUSLH CHTHSHEMIL
SauSEH CQFeus umm eNeur.

Write the formula and explain about its factor to give temporary supply to a
temporary nature of work.

SO&ME0S LILTUMLIgM&TS  SHMHHME0E  LOTIFMILD  QULPHIGEUSM SHIT6sT
&SHNHMG 6P SB6H SMTeTENSman eeul.

Write the rules and regulation to give more than one service connection in a
premise.

@B QLHHO MGG GCoulL  hler  @Qemeuilil  QILPHIG6US
QgmLjumer eNg(Wwenmaemnet LDH 6T(LHSIS.

Write about Earthing of Distribution Lines.

LlesT LSTLomeT HLMISeMEL Hev Qemevoriil CFwleug LD 6T(LRSIS.
Explain about Earthing of Distribution Transformers.

u&ljomest WsiomHMiGened Hlev @eneuorliy Q&uwleug unHmM efeuifl.
Discuss about various types of Fire extinguishers and their uses.
LIGOCUEDSGILIMET  SUIHETILILITENS6T  LOHMILD — SHeummledr  LIIGSTLIT(h &6mern
umm eaNeuflé&eaLb.

Write about operation and maintenance of Vacuum Circuit Breaker(VCB).
VCB oWl Quis@Sed Hmid upmoflggsed upml 61(LSIs.

Write about laying and maintenance of underground cables safely.
LengLOlesT UL Misemer  n&@GL  Curgd  ugmoflifer  CuUTgID
UmgISMUILL 681 Lewiiufleugl ubml 61(Lp&IS.

Write any 2 methods of artificial respiration given to a person met with an
electrical accident.

LOl6tT HTEHSHG 2 L UL L BUHSSG QFuw Ceusiumgul QFwmens 2 ulijLiy
e GCHMID Gstungenes LD 61LHSIS.
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Enumerate the vertical and horizontal distance to be maintained between
line and the building for HV and LV lines.

2 WNPSHS WLOMID STDUPSS LOeT UMMSEGSWL  SLIgL RISEHSHGSLD
QLG @ss CGeuauiqul LUSSUTL(H WLOHMID QFRIGSHSH QenL Cleief
SIRISmeT GOILLNGHS.

What is line clear? How it should be obtained and returned? What are the
precautions to be observed while taking LC over phone?

6oL L. B&HSLD  6T6IMTeL  6Tettenr? OGN L. 565 WIS  6TLILIg,
Qum Geuetoi(Bd? etlLg  SBWLLI Q&T(HSES GCeouni(BLd? CHTEmLCLS
eumuileons eI L. H&H&D QUMb Cungl 61(h&S Geustonqul  (LP6ST
1§ HENESHET 6T60T0\6TT60T60T?

What type of tenders will be advertised in daily news papers and explain.
6hG EUMSUITEN eRLILIHGMIGET SHleor QFIH Fmenseafed eNerbduyiLbhGsLl
LGEME LOHMID SHeumHemnmL UMD efNeur.

Write about tender specification and why the tender specification must be
so specific?

uUuUbBSLTeNsaNer ellay @GOILUSeT LUDHM (SIS LDOHMID  SEN6EUSEHT
ggeor LDGe D QGeMNeunss GMUNLLIUL. Ceusn(hLb?

On what conditions tender will be rejected?

6ThG GHLpHlemevseatled epliLhg LeTaNaem GemenLly Q&uwwiUmLD ?

Write about opening of tender.

@uUUbBS Leteflaer Solugl LDM 61(LHSIS.

Explain about open access and Wheeling.

Sopgsaifl penpuflown WO BETETID  HObG CFOMIHD UMD
aleur.

Write about function of State Transmission utility.

wrhiev et QAHMLgemLL HimieuerddHe Qaweoun®set LUDM 61(LpSIs.
Discuss about generation planning.

Ol6oT 2 MUGEH SILLLOIL 6L LHM eNeUTH&sa]Lb.

Describe the procedure for grid connection with its conditions.

et SLEUUTLE  euemeouiled @QemeuuiliLig QGMLUM6T  QULDI(LP MM SHelT
OHMID BubSemeoTeT UnHM efeur.

Write the procedure for Requisition and devolution of material in stores.
U6l &  &memeoulled  QUIT(BL&emem  QUMIOISHGLD, UL LILSMEGLD
2 efmam UNpEmMEET LD 61(LDSIS.

Write short notes on valuation of store transaction in central office.

L6IIL& &M6mev  UMIHDMRISGmET  HHI  IeInsHSd  WHLISEH
Q&weug uHM HMI GOILIY 61(HSIS.

What are all the procedures laid down for payment of compensation for tree
cut along transmission lines?

OesT  QBTLHeNEL 2 6ffem  LOJRIGMET SOHMIQISNES UPHISLILGHLD
QUG CHTMS QUPHIGUSDHSTE ULNSTL (HSHEVSEIT 6Temew?

What is Administrative approval and Technical sanction? Write about
revised administrative approval.
Hjeuns eUUGLLOMID CSTHOLHIL L @IS  6T60IMT6L 61601607  LOM)
Bijeuns epliged UMM 61(LHSIS.

EaE A



